Statistics used in biology :
Prepared by Mrs Nada Lotfi-Baker 
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Unpaired student’s test Example : for example student in uk and student in china of same age can be unpaired 
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See the note below how you get SD =standard devistion I dound here 
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In biology we use p=0.05
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For example to compare students in uk in different places but of same age 
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In the below we can use calculator for stat mode 
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Note you round up  for t till end of calculation 


We can ignore the – before -5.10 when we will look at the critical value table and the df which is degree of frredon her eis n- 1 
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We use n-1 in biology 
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We can see in other example the non overlap as below 
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We can also see in another 
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Also in other example we can se 
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